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FADASALAI'S CENTUM TEAM

PRE PUBLIC EXAMINA TION -2023 Marks: 70
: Xl - EM/TM COMPUTER SCIENCE Time : Hrs
Choose the correct answer :
eflwrar dlaLow CaiHAs5LSS eL&s: 15 x1=15
. Which of the following is a distinct syntactic block?
a) Subroutines b) Functions c) Definition d) Modules

etteuqpld 6181 Fevllgsestemwinen OSTLILD OSTSSHEM6TS: CSHTEILSTGLD?

a) SIDETUTBIEOSH6T b) O\FWIHFMS6IT C) 6UEMTIENM d) QEGEE
Bundling two values togather into one can be considered as
8 PLsemeT R6TDNs Llemewrl 6hs auens SHHSLILGSDS)

a) Pair b) Triplet c) Single d) Quadrat
Which of the following is used in programming languages to mapahable and object?
Netreudpld 618 Beomss GWDMPUNed LompNemwLD QLMBemeTud Gl Q&I LweTLGSmE?

a):: b):= C) = d)==
The word comes form the name of a Persian mathema#ibiaida’'far Mohammed ibn-i
Musa al Khowarizmi is called?
abg 618med GTafdul senllsGens SRMSHUT APSDE BLIET-RApsT Ji6d A&emeauntsvus
ouwfled BB QUHSSHI?

a) Flowchart b) Flow c) Algorithm d) Syntax
Which is not a compound operator in python?
mUGGeled 618 Fal(Bsh SGM Di6v60?

a)= b) += c) *= d)**=
Which is the most comfortable loop?

615 LOSHEYD &r6VLILDITED LDLEES?

a) do...while b) while c) for d) if...elif

Which id not a classification of function?
LetteuqpeueTTEUDMIET 618 OFUWDHFMIHET EUDS 6060

a) Build ing_siteremsoms) b) User Definedfwuen susomumiss)

¢) lambdadombr) d) derivedgmesaiiiL)
. What will be the output of the following code?

LesTeubeueTTEUDMIET 618 SLDHEWIL ewLISSTEN Breyssnen euefluiLn@b?
strl = “Chennai Schools”

strl ="
a) Chennai-Schoob) - c) Type error d) Chennai
. foriinrange(5,15,3)
print(i)
What is the output? @seir euefluS® erstreor?
a)54321 b) 51015 ¢)581 14 d) 3456

10. Which of the following class declaration is correct?

Netraupeusteudmie ebs BTSSP e srflwineog)?
a) class class_name b) class class _name<>

c) class class_name: d) class class_name[ ]

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net - No.1 Educational Website in Tamilnadu

11. What type of relationship does hierarchical model represents?
uiBeweo S 6Bs uems 2 meyBeneosmit SMLIIGSMSI?
a) one-to-one b) one-to-many c) many-to-one  d) many-to-many
12. When the first verstion of SQL was developed?
SQL- er apsed LB eriBUNg SeuerflulLliLrL g?
a) 1986 b) 1970 c) 1992 d) 2008

13. Which method free up the resources that were tied with a python file?
NetrauheueTEUDMIET 618 EUeNRISHENT ReWEISHSLILIBeTen euemisensT 6NlBeN&HSID?

a) remove() b) close() c) delete() d) pop()
14. SQLite falls under which database system?
a) Flat file database system b) Relational Database system
c) Hierarchical database system d) Object oriented Database system
616 STUSSAT INEMIDLIEDLIF SMHSSI?
aRhenms CHMLIL| STeYSHENTLD b) 2_meyBemeo seyzeTD
C)uigrBemed Freyg6rid d) eunmBeTCHNSE SIeysend

15. Zooming in will require
Gsiiey QFwiLrL ugifenest  Ouflwsnss esiteor O\FUIul GeuetorBLD?
a) a left click b) aright click c) aleft click and drag d) a right click and drag
I Answer any SIX of the following questions:(24 is compulsory)
gCsab Gpym ehlannésenés MavLwerl: 6x2=12
16. What is a subroutine?
glemevor [BI60 6T6ITMMED 616316012
17.Why scope should be used for variabl@&at&the reason.
LMISEHSHS 6ISDHGMS CUMITEIEOEMED LILISTLUGSS GeuctorBD? SHMI6WID Famis.
18. Define Pseudo code.
GuUT-5&MPEDD CUEDTWIM).
19. Write short notes on Exponent data?
s1&enEUITeTTEN. g6y LDN &ML euenns.
20.What are the main advantages of function?
QFWMDHERMNET APSHBU HEITEMLDSHET WITEHEU?
21. How will you create constructor in Python?
OUSSTENl60 Sp&HBemUl eTeURITM)| 2 (HEUTSHSEUMUI?
22.What is the diierence between SQand MySQL?
SQLwbhmib MySQL & 2_eter Gauniun® wimeneu?
23. What will be the output of the following code?
etreupd GMlpenmulest Geuerflui® eretreor?
list = [x**2 for x in range(6)]
print(list)
24. Write syntax of getopt.getopt() method.
getopt.getopt() agnLfluwened erpais.
Il Answer any SIX of the following questions:(33 is compulsory)
gCsab Ghym ehlarnésienés MaLwerl: 6x3=18
25. Which strategy is used for program designing? Define that strategy
Bred augauembLILNed NTUDHMULIBD WSS 61817 DHens eUeDTWIMISHS.
26. Why Access control is required?
SlemisHed SLBUUNTE a5D&S CHmaIlILBGENS?
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What are the rules for creating identifier?

GSOILOLLILITSEMET 2_(HEUTSHGS6USDSTeN 6NHLPEnMSHEDeT 61(LDSIS.
Differentiate ceil() and floor() function?

ceil() whmibfloor() aswmhsansemer CaunLBSEis.

.How do define constructor and destructor in Python?

OUSSTEll60 Sp&E HMID SHPAINHEDET 6TUGUTN] EUEDTUIMLILITUI?
What is the role of DBA?

DBA eflett uewfl ereresr?

What is the dierence between the write mode and append mode.
write pmitb appen dwpenmenioserlsst CeumiLn®G  eT6oTewT?

Mention the diference between fetchone() and fetchmany()
fetchone() wpmub fetchmany()BaumiLGsais.

What is meant by Memaoization?

Bewerefl(hSS60 QUeBTWIM).

Answer ALL the questions:

Slmansg armésenssd HlanLwer: 5x5=25
How will you facilitate data abstraction. Explain it with suitable example.
506 S(HAUDMSGSD ereuauTm OFWELIBSSHIOUTU TBSSHSSHTLBLENT  6flensESs.

©OR)
Explain the Bubble sort algoriths with example.
WP arflnswnss QBPeDDENW 61.5MT-2 L65T 6flensESs.
Describe in detail the Procedure script mode programming.
Q\FWwedpemM VBHILL (peMEmID [Breon&&D LD 61LD&Is.
©OR)
Write a detail note on while loop.
for loop up® &MY euenrs.
Explain about string operators in python with suitable example.
OUSSTEoled LWETUGD &7 OFWHSNSHDeT SSHS 6.&M.-2 L6 6fensESs
©OR)
What the diferent ways to insert an element in a list. Explain with suitable example.

listeo @m 2 milienu GaiugHeTeT LGN CUNSET WTEDEI? 61.&M.-2 L6 Hene@s.

. Explain the diferent types of data model.

se| wndflufletr LCam) clEnssHmaT 6f6TSHESsS.
©OR)
Consider the following employee tablérite SQLcommands fdahe gtns.(i) to (v).

Spsneyd UewflneTT S Lalenenrenul SHeHHe0 OsTe® LNeTalbD N&ESEHHS
sflemLwierfl.

EMP CODE NAME DESIG PAY ALLOW ANCE
S1001 Hariharan  Supervisor 29000 12000
P1002 Shaji Operator 10000 5500
P1003 Prasad Operator 12000 6500
C1004 Manjima Clerk 8000 4500
M1005 Ratheesh  Mechanic 20000 7000

() To display the details of all employees in descending order of pay

Slewevis gl Leflwmerisefler efleunmisener SauissT EWLMIbFFDLUeTHRIS6 6T S
auflenguilev Smeworss.
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(ii) To display all employees whose allowance is between 5000 and 7000.

5000 wp&sd 7000 6uemy SLMID Sienes g Liswoflineigerfleirefleunmisens Smeuor 8.
(i) To remove the employees who are mechanic.

Mechanicuswseow &mibg uewflwnerisamer Bes.
(iv) To add a new row

m LHw eflensenul 2 (heunss.
(v) To display the details of all employees who are operators.
operatoraemasenw &nibg Hewenigd Lewflwnemiseflesr sfeunmigeneT smevrilss.
Write a Python program to execute the following c++ coding
Spsneyid H++ Bremed OFWOLESS RH DUSSTEN BIemed 6IIRSLD.
#include <iostream>
using namespace std;
int main()
{
Cout<<“WELCOME";
return(0);

}

The above C++ program is saved in a file welcome.cpp
(OR)

What are the key dérence between Histogram and @aph.

ULeDLeUeBILLLD WHMID anflevCLrdymbd CaumLbssis

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/



